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N Yy X FEHELIT -0.5 -1.1 +1.1 +1.1

3 15 fE A INEHE X - X AL
TAY % FHELIT
20 192 /F EE@Q) INEHE Ri5
197 741 SREAFA
1 200 M £ (6) INEHE Ri5

Y+ 13 SRERFA




HELF

2 72,/( RE BHIE (1100
AR (2. 721kg)
R B
JILEﬁ‘]L K% 7“%’%‘3_2 m :t&@? EP—*T‘ﬂEFEE% 12_16_8 11_25_4 _;_ 11_46_5 12_ 51_7 11_69_8 1_23?8 e
oAby o E3 L : ' ' ' ' :
(IR Toulx [rwlowlen] s
4 5/ 6336 Elg;g?ﬂig(” igg 7. 44 7.32 7.75 7.32 7.34 8.57 8.57
5 9 7658 ?KEJ %’Qéum ﬁi 8.14 x 7. 68 x 8. 20 7. 98 8. 20
6 11 5794 téﬂ? g;(” Egi%ﬂnﬁ 8.00 7.67 7.40 7.52 6. 78 8.02 8.02
7 6 7881 1..3’;;-.; E'EJE(?) Eg; 7.32 6.80 7.17 7.42 7. 21 7.47 7.47
8 8 7899 gg ;%ZHU ﬁgiﬁw 7.21 7.00 7.15 7.18 7.09 x 7. 21
9 4 7788 ?}'ni?**i IJ%zlfllfL(Z) E;E 6. 68 6.45 6.37 | | 6. 68
100 1] 7862 ?r:;;?JEi%(U ?FSE‘TJ‘ZE 5.09 4. 75 4. 84 5.09
11 3 7865 %@E ;igz.%(n EE; 4.46 4. 64 3. 95 4. 64
2 7971 ;ETF%%Q) EEE | | | s
Y4 79h RE




ZF

(REE BHETH [70:30 |
R B
NEfL | 5 Fon - K % iiE4 -1- -2- -3- -4- -5- -6- s08% S
1 3 1585 B @mHEG)  BRE X X X 11.62 11.49 11.50  11.62
5 743 ) 0.0 +2.8  +.4 0.0
2 2 31 iEE EE —i 11.00  10.89 10.32 - - - 11,00
YIN5 +9¥ EHTATIA 0.0 +0.4 0.0 0.0
31 7849 Bk B Q) e X X 9.79 948 992 9.8 9.0
YEN i .3 0.9 +0.1  +.3  +0.1
XF RE BATH [ 830]
R B
BRL BB fon - K& L R -1- 1 -2- [ 3- [ 4 [ -5- | -6- | 8% [E
15 6332 CEX@) i 9.83 9.84 10.10 0.41 9.45 9.73 10.10
W JbE £
2 4 GIWEA BEQ) e
1{“;%() EFE 908 9.28 9.31 889 9.04 931 031
33 2460 E REQ ik
\./g,} ?ﬂa( | Emi 6.00 7.73 8.58 7.93 7.02 7.63 858
4 2 633 B0 E50 £
i wgégﬂ) fﬁi 757 7.16 7.45 6.27 7.64 7.64 7.64
As &
ar 2 i 5.68 6.26 5096 5092 667 635 667
ZF EX: BHETH ___10.00]
’
N1 (4. 000kg)
R B
IR Bt - (2? - EE - T T 3 4 5 6 | BE | BE
EE =%
¥05 FEBRES 0 3609 X | X |0 |0 3609




